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All questions are compulsory.
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The question paper consists of 31 questions divided into four sections A, B, C and D. Section-
A comprises of 4 questions of 1 mark each; Section-B comprises of 6 questions of 2 marks each;
Section-C comprises of 10 questions of 3 marks each and Section-D comprises of 11 questions
of 4 marks each.
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There is no overall choice in this question paper

Ferparet 1 Jam afd ¥
Use of calculator is not permitted.

@ug-31 / SECTION - A
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Question numbers 1 to 4 carry 1 mark each.
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Express 0.3 in the form B-,wherepandqareinhegersand q= 0.
q

X 42+ 72 ~3x — 6 F1 x+1 F w7 fom S & PR W HRT 1
If 4x° +7x" ~ 3x — 6 is divided by x +1, then find the quotient.
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In given figure AB||CD, find the value of x.
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A policeman and a thief are equidistant from the jewel box. Upon considering jewel box as

origin, the position of policeman is (0, 5). If the ordinate of the position of thief is zero, then
write the coordinates of the position of thief.

@Wuz-a/ SECTION - B
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Question numbers 5 to 10 carry 2 marks each.

5 1 ¥ (0) T YRy S €7 319 s shfam i) 2
Is zero (0) a rational number ? Justify your answer.

6 TUFEVE Y ;324342 x +4 B

Factorise:.t?-l-S\Ex-f-n}:

7 T v Yarave w1 ww ol e v e ' 2
Pwveﬂ\atevexylimsegmenthasoneandouﬂyonenﬂdpoim.
8 @ swptt f AB=BC, BX=BY. fug Fifm T AX=CY. oz % ¥ ¥ F g = qer wnh 2
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lnﬁ\egiveBnﬁgme,wehave AB=BC, BX=BY. Show that AX=CY. State the axiom used.

X Y

A C
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(i) o —43RHfz 287
(i) M 3R yad?
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In which quadrant will the point lie, if
(§3) the ordinate is 2 and the abscissa is —3 ?
(i)  the abscissa is —4 and the ordinate is —2 7
(iii)  the ordinate is 3 and the abscissa is 4 ?
(iv)  the ordinate is 3 and the abscissa is —2?

10 o HfGETg e 1 aRAT 30 cm 3R TR 12 om 3 2 Py &1 deer w9 wifg 2
Anisosoeltrimglehasperimeber?oOcmandeachofequalsidesia]Zcm Find the area of
the triangle. -

|UE-H/ SECTION - C
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Question numbers 11 to 20 carry 3 marks each.

11 7 % e Yar w el #ifm) | 3
Represent +/7 on the number line.

12 35, 5, Y5 = s ww A fafa - 3
Write ¥4, V5, 46 in ascending order.

13 TUFES FINC 8- | 3
Factorise : Y3 —x

14 A% a+b=10 3R a2 + b2 =58 &, W a3 + b3 H A T HIHIY 3

If a4+ b=10 and a2 +b? =58, find the value of a3+ b3,
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17

19

1 ABCD # Y1 AD 791 BC R X 391 Y FWer: 9 fag 30 9oR & fF AY=Bx & fug #ifeg 3
ZXAY = ZYBX '

ABCD is a square. X and Y are points on the sides AD and BC such that AY =BX. Prove that
ZXAY = ZYBX
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If a transversal intersects two parallel lines, then prove that bisectors of alternate interior
angles are parallel.
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T i AD=AC | Tag #ifee fF £BCD & g9sv 1
D

|

B C
In the given figure AABC is isosceles triangle in which AB=AC. Side BA is produced to D

such that AB-AC. Show that ZBCD is a right angle.

B <

HAFRMAPO LABRI A x:y:2=1:3:5%, @ x, y 3 2 1 WY 91 FfwQ | A 3
1

A 5) B
In the given figure PO L AB. Ifx:y:2z=1:3:5 then find the degree measure of x, y and z.

2 T s Y e o A R e g, A sa e A e v #t ofg et 3
Find the percentage increase in the area of a triangle if its each side is doubled.
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Find the area of an isosceles triangle whose one side is 10 cm greater than its equal side and its
perimeter is 100 cm. (Take /5 = 2.23)

@Ug-T/ SECTION - D
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Question numbers 21 to 31 carry 4 marks each.

1
mmﬁmmﬁwmﬁiﬁmmmm I FA A F AR TE A F

o, W ¥ TR O F S Ga A g ¥ Ry g s S e g fien @
wRwrE ¥ fag v T m%ﬁﬁﬁqmmﬁm? TR HH-T e el

Varun was facing some difficulty in simplyfying 77-573- His classmate Priya gave him a
clue to rationalise the denominator for simplification. Varun simplified the expression and
1
. i What value does it
thanked Priya for this goodwill. How Varun simplified v ? ue does

indicate ?

J5 ) wem e e frefi w | (RAft o frfim) 4
Represent V8 on the number line. (Write the steps of construction)

TP T 3 + 1357 + 32x 4+ 20 4
Factorise : x> + 13x% +32x+ 20

mm:zﬂ-%x-ri—lz-. 4

Factorise : 22 = > x4 —=.
6 12

VRS BTG 1x° —6x°+11x~6 4
Factorise : " =6x* +11x—6
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If both (x—2) and [:" %-) are factors of px2 +5x+r, show that p=r.

27 fa W ugds ABCD # @@ O ot wm@ =@ty AB ok cp ¥ wwiw R o4

ZA>/C 3R «B>4D ¥

e

In figure, AB and CD are respectively the smallest and largest side of a quadrilateral ABCD.
Show that ZA >£C atl\)d £B>4D.

A

c

v
| AABC %1 %58 BC, CA 3R AB ) 8N 9gH R LACD, ZBAE 3 ZCBF a1l 11 F T¢. 4
¥ fag #If fF ZACD + ZBAE+ ZCBF =360° §1

The sides BC, CA and AB of AABC are produced in order forming exterior angles ZACD,
ZBAE and £CBF., Show that ZACD + £BAE + £CBF = 360"

ABCD Q& =gif+ # fr@ § AD = BC A/DAB = 2CBA & 3wt i anepfar & worian &) a
fog =i
(i)  AABD=zABAC
(i) BD=AC
(i) ZABD=<BAC
5 D
B :
C

" ABCD is a quadrilateral in which AD=BC and ZDAB=ZCBA as shown in figure. Prove that
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(i) AABD=ABAC
() BD=AC
(iii) ZABD=ZBAC

30 AR mwiat sl # uw frds Y wed 8 @ fox wifi i Qo slaal F aufpumi A 4
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If two parallel lines are intersected by a transversal, prove that the bisectors of two pairs of
interior angles encloses a rectangle,

31 S ABC %1 @ 4od AB & BC 3R mifegat AM %A%: TE Fys PQR #1 2 yWei PQ QR 4
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Show that (i) AABM =APQN (i) AABC=APQR
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